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Collimotor Wakefield Apporaotus
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Collinator Woekefieled Apporatus
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Collimatar Wakefielo Appartus

|—-——— §4, |0 g ——

Pos C
0 | _azeE " 'J'.n'?!fﬂ';\
1 &-7HS i L
2 | o 2.5 10
o BT
4 12047 'I'T-‘-..I:L"T
(T oriy

+0245

Louss RED -

I"II'-I|_E'# v O V3




F*_E-.-l": [ W e 1. R 78 Mo z
VAL LiFS3 Bl .4 12
ST 2,670 & 3 cad [1.6R =
il ! SR
HI |4, 535 4 ¢ >d 14- B2
e e
= G G
e 14 ¢ a4 4. cad 14 ca 4
VAL .50 [.747 _f.mad
S/ ST e gy [2.700D
=k / = /
5 E AN 1. 837 1. 700
A
T | 4. c5d e
WAL SN |. 821
Sl |2 | ke 7o
IF'-'T' | | ———
SIE T PisE 3
Fris
D 2354
/s Fi
wr 4584
o ! 7 Z 4 AL 1. 43¢
o P B e . I [ e = B | T s ] W o _IFE.-_FII{_'_{!
£ oz +.018
/ 248 13 8]
DS Ao 13033 2048 |
7, [ P g ":lrl— | &, 534
fiin e e lli.?lg },:J.!JJ"'
I 170 :
. s
2T /‘5’ NS Ry ES B 6/8 Lowe |1.20bL -
AP s Eff' / A }-’ i 8 Lowsf |r3' g m .

F "I’"-.r!l' e |




(D FAPR Va I3, 454
MEAE VA S 5
E Ve
|8 M Pt aie]
2L F [, — )
78 M 4974 + |
CIHF ?ﬂﬁr\
gl R A 2 R4 7
| o5 =\ 44{

)
Les: =177 44
VAL =103
=T = e
ST o
S o hkdg
Frno =

2 shalbihe Boq12

{-:-*1:1"" l:._:;-f..r:l-: 'H'.E
& shealhibe N3

Ser Serlhe F J#'L

& “L-:J'JL fp.a Gd_f

G Sueihe H)
2o eldn U B ) S

i) ull
_"E'_I-h R Y ‘F—ﬁ

iz "_'-:L'.a-.-l!J' ildi 4-7?5

b4 2=

/S Flag 1S Fls
Los <1744 -7 44
VL _"_’L_{:E*Jr'ﬂd'. "?-_‘c"'?_:_"r?
5 S == B — 15, B
a5 EiER e BE'%'LE_—E 15 B
SR
524

l.es =177 44}
St 2Bl le@ 20 —
Tt Gron (@ @ —e= a2 O.deo
Ceb & ¢ TOUY — LpS= 52554

BeiseS ok

W 44{'—/5&
18,435 — 9,544 = =8 840

18,435 — TF42) = = VB &

-
Ig. 43¢ — Sfja= ¢ = (3017

I i e ey o e e

[Boiaaiet = e o




